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General Instructions :
1. All questions are compulsory :

Q. No. 1 to 3 are 1 mark question.
Q. No. 4 to 6 are of two marks questions.
Q. No. 7 to 18 are of 3 mark question.

Q. No. 19 to 24 are of 5 marks questions.
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Q. No. 25 to 33 are multiple choice question based on practical skills. Each questionisa 1
mark question. You have to select one most appropriate response out of the four provided to

you.
6. Q. No. 34 to 36 are question based on practical skills carry 2 marks question.
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SECTION - A

1. what is the unit of specific resistance?
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2. Name the tissue where anaerobic respiration produce lactic acid.
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3. How do you show that blue copper sulphate crystals contain water of crystallization ?
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4. write two functions auxin.
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5. Name the hormones which are responsible for ...
1. Growth of the body.
2. Regulating the Carbohydrate, Protein and Fat Metabolism in the body.

S BRATT T 9 forg -

1.IRR & 9ig &G |
2. IRR H pRAEEsC, NIfed vd aa1 & =01 7 |

6. What happens when Silver chloride is kept in sunlight ? Write the balanced chemical equation
for this reaction.
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7. When a 12 Volt battery is connected across an unknown resistor, there is a current of 3 mA in
the circuit. Find the value of the resistance of the resistor.
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8. Write the reason for the following :
a. Food should be kept in air tight containers.

b. Potato chips producers usually use bags of chips with Nitrogen gas.
c. Iron articles lose their shine gradually.
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9. You have given magnesium ribbon and sulphur powder. With the help of an activity explain that
metal oxides are basics and non-metal oxide are acidic in nature.
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10. Why is parallel arrangement is used for domestic circuit ?
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11. Design an activity to show that chlorophyll is essential for photosynthesis.
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12. Write chemical equations for the reactions taking place when ...
i. Copper is heated in air. ii. Magnesium reacts with dilute HCI.
ili. Iron reacts with steam.
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13. Study the circuit diagram given here and calculate.
a. The total effective resistance of the circuit.

b. Total current in a circuit.
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14. Explain how reflex action takes place ?
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15. Write the name of the metal in each of the following :
a. A metal which is used for galvanizing iron.
b. A metal foil which is used for packing of some of the medicine tablets.
c. A metal which is for making filament of electric bulb.
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16. Draw magnetic field lines around a bar magnet. List any two properties of magnetic field lines.
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17. Anchal loves to eat chips, burgers and chocolates. Her parents always
discourage to eat junk food.
Answer the following questions based on above situation:
(a)why do you think Anchal’s parents do not let her do not eat junk food.
(b) what values are they promoting?

(c)how can children be persuaded to eat healthy food?
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18. What is fuel ? List any two characteristics of a good fuel.
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19. a. Whatis a solenoid ?
b. Draw the pattern of magnetic field produced around a current carrying solenoid.
c. What happens to the magnetic field when the current through the solenoid is reversed ?
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20. a. Why is double circulation of blood essential in human beings ?

b. Explain how the separation of oxygenated and deoxygenated blood is useful in humans.
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21. Give suitable reasons for the following statements :
i. The crystals of washing soda change to white powder on exposure to air.
ii. A tarnished copper vessel regains its sign when rubbed with lemon.
ili. We feel burning sensation in the stomach when we over eat.
iv. Rain water conducts electricity but distilled water does not.

v. An aqueous solution of Sodium Chloride is neutral but an aqueous solution of Sodium
Carbonate is basic.
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22, a. State Flemming’s left hand rule.
b. What do you mean by electromagnetic induction ?

c. A coil of insulated copper wire is connected to a galvanometer what will happen if a bar
magnet is ...

(i) Pushed into the coil. (ii) Held stationery inside the coil.
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23. What is excretion ? Draw well leveled diagram of excretory system of human being. Name the
main excretory waste of humans.
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24. a. What happens when potassium reacts with water ? Write balanced chemical equation.
b. Name a metal for each case :
i. It displaces Hydrogen gas from Nitric acid.
ii. It does not react with any physical state of water.

iii. It does not react with cold as well as hot water but reacts with steam.
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SECTION ... B

25. Which of the following does not have plus (+) or minus (-) sign marked on it.

a. aresistor b. a voltmeter c. an ammeter d. a battery
Fd A BT g9 (+) =7 (-) R A sifra s fearsar g ?
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26. Which one of the following is non-renewable source of energy ?

a. Fossil fuel b. Solar energy c. Wind energy d. Tidal energy
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27. Solar cells are used in ...
a. Artificial satellite b. TV relay station
c. Traffic light d. All the above
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28. A student after observing the reaction between Zinc and dil. HCl noted the

properties of Hydrogen gas evolved. Correct observation regarding hydrogen is ...

a. Colourless b. Odourless

c. Burns with pop sound d. All the above are correct.
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29, If the pH of a solution is 7.5 its nature is ...

a. Strongly acidic b. Neutral c. Weakly acidic d. Basic
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30. The colour of Zinc metal is ...

a. Light Grey b. Reddish brown c. Black d. Light yellow
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31. Rohit observed the formation of a coating when he added the solution of copper
sulphate to the iron nails. This deposition is of ...
a. Iron b. Copper c. Iron Sulphite d. Sulphur
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32. Fe(s) + CuSO,4 (aq) = FeS0O, (aq) + Cu (s)
The above mentioned chemical equation shows a :

a. Displacement reaction b. Decomposition reaction

c. Double displacement reaction d. Combination reaction



Fe(s) + CuSO, (aq) & FeSO, (aq) + Cu (s)
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33. A leaf from a destarched plant is covered with black paper strip. On doing the starch
test the result will be as shown in the diagram ...
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34. On the basis of your experience give two advantage and two limitations of wind /

solar energy.
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35(i) The use of water in the beaker in the experimental setup to show that CO, is given

out during respiration is to ...



Provide moisture to the germinating seeds
Absorb Carbon di oxide

Create a partial vacuum

o 0o T o

Note the change in its level in the delivery tube immersed in it when
partial vacuum is created in the conical flask.

(ii) Why are germination seed taken in the experiment.
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36. Name the cells around the stomata.
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